S.21

Thema

Gebrochen-rationale Funktionen 3

Schwierigkeit

Art

Uben

Klasse
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b)

1,5x

g(x) = — De=R\ {-1;1}
x° -1

Symmetrie?

f(ox) = 15(—x) —1,5x _

C(—x)?-1 x?-1

f(X) = Punktsymmetrie zum Ursprung

Asymptoten: x=-1 ;x=1; y=0

Nullstelle (0/ 0)
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1 2 2
fx)==x-1- Df=R\ {-—=
O M=Egxtlmgny PrERMG
Symmetrie?
f(—x)=l(—x)—1—#=—lx— __ 2 # fx) keine Symmetrie
2 3(—x)+2 2 -3x+2 —f(x)
Asymptoten : X:—% ; y:%x—l
Nullstelle ?
1 3. 3.2
Ex-1DBx+2)-2 =x"+x-3x-2-2 =x"-2x-4
1 2 2 2 2
fx)==x-1- = = =
2 3X+2 3X +2 3x+2 3X +2




x> -4
2x? +1

) fx)=

Definitionsmenge: Df=R

(x)*-4 _ x*-4

S trie? f(—x) = =
ymmete (=) 2(-x)> +1  2x* +1

=f(x) = Achsensymmetrie zur y-Achse

Asymptoten : y = %

Nullstellen: Ni1(-2/0); N»(2/0)




4 - 2x

R

Definitionsmenge: Df=R\ {-1; 3}

Symmetrie? g(-x) = ‘l —2(=x) = 24 + 2X # 9x) keine Symmetrie
(x)" -2(—x)-3 x“"+2x-3 |-9(x)
Asymptoten : y=0; x=-1; x=3
Nullstellen: N(2/0)
4_




2x% -1

Hox)==—

Definitionsmenge: Df=R\ {-2}

Symmetrie? g(-x) = 2=x)" -1 = 2x” -1 # 9x) keine Symmetrie
-Xx=-2 -X-2 |-9(x)
2x* -1 :
Asymptoten : g(x) = 7 - 2X +4 + ) = Schiefe Asympt.: y=2x +4;

senkrechte Asympt.: x =2

Nullstellen: bei X, =+40,5
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